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U1 = [0 5 10 15 20 25 30 35 40 45]; 
I1 = [0 1.2 1.4 1.8 2 3 4 5 5.1 5.2];  
U2 = [0 5 10 15 20 25 30 35 40 45]; 
I2 = [-4 -3.8 -2 0 1 2 4 6 6.1 6.2]; 
U3 = [0 5 10 15 20 25 30 35 40 45];  
I3 = [0 3 3.25 3.75 4.01 5 5.05 5.1 5.5 5.5]; 
 -

 

 
  

 
V1= polyfit(U1,I1,8) 
VAX1 = poly2str(V1,'x') 
V2= polyfit(U2,I2,8) 
VAX2 = poly2str(V2,'x') 
V3= polyfit(U3,I3,8) 
VAX3 = poly2str(V3,'x') 
VAX1 =   -1.0476e-010 x^8 + 2.0702e-008 x^7 - 1.6539e-006 x^6 + 6.8846e-005 x^5  - 0.0016156 x^4 
+ 0.02182 x^3 - 0.16456 x^2 + 0.67939 x + 0.00084122 
VAX2 =  -1.2381e-010 x^8 + 2.9046e-008 x^7 - 2.608e-006 x^6 + 0.00011562 x^5   - 0.0026699 x^4 
+ 0.030219 x^3 - 0.12582 x^2 + 0.18282 x  4 
VAX3 =  -2.3048e-010 x^8 + 4.0071e-008 x^7 - 2.8832e-006 x^6 + 0.00011229 x^5  - 0.0026061 x^4 
+ 0.037203 x^3 - 0.31762 x^2 + 1.5193 x + 0.0013398 
  
Uab1=E1-U1 
Uab2=E2-U2 
Uab3=E3-U3 

U -  
figure (2) 
plot(Uab1,I1,'k') 
hold on 
plot(Uab2,I2,'g') 
plot(Uab3,I3,'y') 
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